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1. If f(x)>1 fordl x an I|mf(x)
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3. J'IeXz*yzsin ydx dy=0.
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4. Let f:[ab] >[ab] beacon mthae@thm f(x) =X.
5 If I|mf (x) doesn’'t exi m&xlatoo.
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7. Supposefisintegrableon [a,b], defi erentiableon (a,b).

8. Let f be a continuous functionddefin
F(x):jlxtzf(t)dt forx e

sed interval [1, 3] and f(x) <3 for all xe[13]. Define
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9. Letfbeafunction defined ont |-1<x<1-1< (00) and (00) exist, thenfis

differentiable at (0,0).

10. Let f be a continuous function d unded inter

that f (x) < f(xo)foraIIXG(a
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12. Theareabetweenthecurve y= x+/3x+1andthelines y=0 ,x=0 and x=1 is
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. Find the equation of the curve that satisfies the differential equation yy’ + 2x = 0 and that passes through the point
(3,-1).
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The slope of the tangent line t
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Definethefunction f by f(x) = ‘dt . Which of the following statement is correct?

(A) Function f derives its absolute maximum at point x = -1

(B) Function f derives its absolute maximum at point x =@
(C) Function f derivesits absolute maximum at point x=1

(D) Function f derives its absolute minimum at point x=-1

(E) Function f does not have absolute maximum or minimum value
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Define f(x) = jox(cost)“ dt . Which of the following statement is fal se?

(A) fisadtrictly increasing function
(B) f'(x)=(cosx)*

(©) f(x+27)—

f(x) isconstant

(D) f(x)>0 forall real number x

(E) f(0)=0
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1 2 otherwise
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piecewisely continuous
\ f(x)e integrable on[a,b]

F(x)= ¢, f(tht,Fdc) (- f(c) )

\ F(x) T differentiableat x=c
\ F(x) T differentiableon (a,b)
8. A

=t’| =26
1
9. B
| = 1 (0,0
o] 7 for o
f o -
f,(00)=0,f,(00)=0
fxy) (00)
g dm fiy) b f(xy) (00 .
10. B y
f(x)
f(x) e cont.on (a,b)
f(x) x=a, x=b \v
x,1 (a,b) a
F(x)£ f(x)
11.(B)
sex-7 e 1 _e 17 :3_ Yy
0_13X+5dx—0_1(2 3)H_S)dx—%x 3En(3x+5)d_1—8 3ﬁn?




P2

12.(A)
A= 001 3x+1 dx

N3x+1=yb 3x+1= y2,3x:y2-1,x:%(y2- J),dngydy

2 2.1 1 ,/2_2 58 116
\ = s -1 X— _‘ 2d =Z(Z vy - =B = x _=__"
(y ) xy x ydy 9q Sy =Y gV ) T E T I
13.(C)
i yye+ 2x=0---(1)
|
1Y@=-1 (2
_ dy _ _
Dyyt=-2xb yd——-2xb ydy = - 2xdx
X
1 19
=} Zy*=-x*+C, 3 , c==
Y y(3 B
1 19 .
\ izt + = jley? +2x° =19
2y 2 Y

v oo _0 Ju W NV I Iw S T W Tu

— e X XX X X F X+ X

™ Ty Tz u X v x w %X u Ty v Ty Tw Ty Tu Tz
% v T fw
+—X— + — X—

ﬂv Iz ﬂw 9z
1If )i i i
-—><1+—><0+—x( 1)+—>( :I)+—><_L+—><O+—>0+—>( 1)+_x1 0
Tu % % Tw fu v Tw
15.(C)
€ 3,0 €3,
po =€ 3 LU g 82“_825_é34u
Q=g 72 T T5 T ¢ &%l
€ 2 U H H 2 6 5 50
\/ 2

RNf(2,0) =[f (2,0), f (2,0)]:[1,2]

6 3 4y
\ D, f(2,0)=Nf(2, O)xe——[l 2]x =, —==1
§ 55

u
0
u



P2

16.(D)

onf (%) :1[4£n|x+14+2gn|x- - jx-1]

1l¢, 1 1 1
bt fg = Sxt 4oxt . L0
oo = 8 x+1 “x-5 x-1f

1 1 10 1 _ 64 2 3
f¢2)=—f(2)4 +2 Ox—- —-1-=-1
Q)s()82+1 2521H38331H

17.(B)
n ¥ 1
a 1 :Eimé‘lx 1 :d 1 dx:1><€n(a+bx) =
o¥iaan+bk re¥ign K a+bx b 0
n
18/(C)

q%|s'n x- cosxdx = Q%|sin X- cosXdx+ (‘;3|S'n X- cosx|dx
%

P

|1J

P

0
—S(Q- 2y e L) (A2 I 5. 30
u e u
19.(5)
f(x):xe'xzxg‘%(-x)“— —( " x““—g‘axn
x* :a4=%(- )P a, =-l
20.(C)
m(g) =—dsna+ f@cosq -y £+cosq fqq)=-snq

f&q)cosg- f(@)snqg’

o f@an et Bycosh (%x(% (§+£> 12
\m(Z)_ppppﬁﬁ«/EﬁJ—:
ff(z)cos4 f(= )sm4 -7)47) (2 2 2

a+b

. . 4 .
AY (CosX- gn X)dx + ¢ 3(sm X- cosx)dx = (dn x- cosx) + (- cosx- 9n X)

1

3

w|T

INIRo]



P2

21.(E)
V= o2 X - y7) - (¢ +y?)] dedy
R
= (‘szé‘lzx(l- r2)rdrYdq
b 6Q 8
:ngp dqug‘lZ(l- r2)rdr3
1
=2D X =
P =p
22.(D)
: 2x
3N 2X7 et 0<x<05
{ H 2X H 2x
Zim 30 2XL:Réim 2COS'2)(:2 , Eime 1L:Réim 2e =2
x®0" X x®0* 1 x® 0" X x® 0"
\im ()= 2( )\ ﬁ@im(zf(x))””:(zxz)zzla
23.(C)
f(x):qx t-t° e'dt e cont.on(-¥,¥)
f&x)=(x- x*)e* =-e*(x+1)x(x- 1)
-1,0,1 (f€x)=0)
X [(¥-D|-1]| 10| 0] O |1 @,¥)
f €x) + 0 - 0 + 0 -
} -1
f-D=¢ (t-t°)ed =e'(-t°+3t2- 5t+5) . :%- 5

1
f(1) = @ (t- t)e'dt = e'(-t* +3t2 - 5t+5)|_ = 2- 5

£(0) = Q. (t- t9)e'dt =0

14

2e-5>F-5 ;o\ f (D)

24.(D)

(cost)*>0,"t \ (‘):(cost)“dt £0 "x<0



P2

25.(C)
LI N 2é 20
O Oxcos xydA= ‘2x§‘zcosxydyl,’dx= ‘ZXXélSI'] xy (d
b e ] éX 10
P
1 2 _é 1, . u é1 .u
=- —C0S2X + cos =5 =(-1)+04- 5 =+17=0
2 g2 % g2y
0
26.(B)
N X(/nx) 2 dx = 1x2(2(£nx)2 - 2£nx+1)e
0, 4 1
2
:%e2(2><12 24 +1) - %xf (2x07- 20+ =S Lo

X

/
N | o

(sn 2x- 9n x)dx



